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Choose the correct ansicel

1. In the growth equation: n =3 1
a. Total popu]aﬁon § L& o Ty {-1 HO u[“ ulc)-\]“ tion
c. Number of generations ~ d. Growth constant

Which of the following
a. Clostridium perfrin,
¢. Hydrogenobacter t.hermop '

In group translocation system
a. Ell &El
HPr & EII
The iron chelating compound:
a. Phenolates = N ) :
c. Siderophores = SRS - d. Enterobactin

s cross the membrane a:
'b. Pressure differ
d. All of the above

) known as:
b. Oxaloactate pathway
d. Fumarate pathway

6 phosphogluconate o
Lﬁ 6- l”‘llo‘_"‘u‘i'na‘,-‘i‘ynu‘v
d. 2 keto 3 deoxy 6

aldolas

f lrr'i.flivl;:éh‘:ltifn'li some microorga

Amphibolic reactions




‘a. A'u*
cycle is:
b. Isocitrate lyase

’ d. Both (b) & (c)
mixed acid fermentation?
b. Escherichiae, Salmo
Klebsiella, Salmo

I electron acceptor is:
b. Nitrogen
d. Nitrate

terminal electron acceptor is:
b. Sulphate
d. All of the above
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